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Crtyavo Ne 4 Crtyauo Ne 6 Cryamo Ne 7 Crtyavo Ne 8 Crtyauo N2 9 Crtyavo Ne 11
43,95 m? 45,30 m? 45,56 m? 45,56 m? 45,30 m? 43,64 m?

[HeBHa c [HeBHa ¢ [HeBHa ¢ [HeBHa ¢
KyXH. 6oKC KyXH. 6oKC KyXH. 6oKC KyXH. 6okc

AnapTtameHT N2 8 AnaprtameHT N2 6 AnapTtameHT N2 5 AnaprtameHT N2 3
83,11 m? 83,11 m? 70,88 m?

ETax AnapTameHT Mnowy
BTOpPU XUIULLEH eTax AnaptameHT Ne 3 70,88 m?
BTopu XunuiieH etax AnaptameHT Ne 4 71,77 m?
BTOpW XUNNLLEH eTax AnapTtameHT N2 5 83,11 m?
BTOPW XUNULLEH eTax AnaptameHT N2 6 83,11 m?
BTOPU XUIULLEH eTax AnapTtameHT Ne 7 71,78 m?
BTOPU XKUNULLEH eTax AnapTameHT No 8 71,21 m?
BTOPY XUMNULLIEH eTax Cryavo Ne 4 43,95 m?
BTOPM XUIULLEH eTax Cryauo Ne 5 46,94 m?
BTOpPM KNNNLEH eTax Cryavo No 6 45,30 m?
BTOpU XUNULLEH eTax Cryamo Ne 7 45,56 m?
BTOpY XUMNULLIEH eTax Cryavo No 8 45,56 m?
BTOPU XUIULLEH eTax Cryamo Ne 9 45,30 m?
BTOpPU XUINULLEH eTax Crygvwo Ne 10 45,30 m?
BTOpV KNMMLLEH eTax Cryavo No 11 43,64 m?




